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Drop rate under different Scheduler at Hot Spot = 2/n
MBL = 5000; buffer = 1000
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B

Latency with non-Uniform traffic (speedup = 1)
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C

Delay under different hotspot (Speedup =2.5) for 
CIOQ 
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delay with non-uniform traffic (speedup= 1.25)
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E

throughput with different buffer sizes
uniform traffic; speedup 1.25; fifo
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throughput with different mbl
uniform traffic; speedup 1.25; fifo
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Delay under different Hot Spot
iSlip; speedup = 1
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FIFO Drop Rate with different Speedups
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I

Throughput under Different Scheduling Algorithms
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